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GE = 0 ? 4 =
f
5� 5 5M 5M 5M 5E : 5 5 5 5E 5555M

555M 5M 555M 5M 5M 5M 5M 5M

GE = ? 4
f

=
5� 5 5M 5M 5M 5E : 5 5 55 5 = 5� 5 55 5ME 5M 5 4 = 5M 5M 5M

�E = 4 =
f
5� 5 5

M 5M 5ME 5 = 5� 5 55 5E 5 5 4 5 = 5M
� 5 4 = 5M 5M 5M

�E 5� 5 5M 5M 5M 5E : 55M 5M 5 : 5! � B 5 4 5 4 5 4 = 5M 5ME 5M
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GE
5 5 5 5M

5 5 5M 5M 5 5 5M 5M 5M 5M 5M 5M 5 5 5 5 5 5 5 5 5 5 5! 5 5 5 5E 5
5 5E 5 5M 5E 5 5M 5M 5 5 5M 5M 5M 5M 5M 5M

GE 5 4 = 5M 5M 5M 5 4 5 4 5 4 = 5ME 5M 5M
�E 5 4 = 5M 5M 5M 5 4 5 4 5E 4 = 5M 5M 5M
�E 5 4 = 5M 5ME 5M 5 4 5E 4 5 4 = 5M 5ME 5M
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Example 13.21
Haydn, String Quartet in G, Op. 64, No. 4
first movement, 39–62
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Analyzing Classical Form
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GE
5 5E 5 5M 5E 5 5M 5M 5 5 5M 5M 5M 5M 5M 5M 5 5 5E 5 5 5 5 5 5 5! 5� 5 5 5 5 5 5 5 5 5M

5 5 5M 5M 5
5 5M 5M 5M 5M 5M 5M

GE
5E 4 = 5M 5M 5M 5E 4 5 4 5 4 = 5M 5M 5M

�E
5 4 = 5M 5M 5M 5 4 5 4 5 4 = 5M 5M 5M

�E 5 4 = 5M 5ME 5M 5 4 5E 4 5 4 = 5M 5ME 5M
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GE
5 5 5 5M

5 5 5M 5M 5
5 5M 5M 5M 5M 5M 5M 5 5 5 5 5 5 5 5 5 5! 5 5 5 5 5 5 5E 5 5 5 5E 5 5 5 5 5 5 5 5 5 5 5

GE 5 4 = 5M 5M 5M 5 4 5! 4 ''
�E 5 4 = 5M 5M 5M 5 4 5 4 '

�E 5 4 = 5M 5ME 5M 5 4 5 4 'E
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GE 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5E 5 5 5 5 5 5 5 5
5M 5M 5M 5!� 5 5E� 5� 5 5E 5! 5�

GE ' 5 5 5E 5 5 5 5 5 5 5! 5 5E

�E ' 5 5 5E 5 5E 5 5 5 5E 5! 5E 5!

�E B B
5 5 BE ' '

Example 13.21, Haydn, String Quartet in G, Op. 64, No. 4, first movement, 39–62 (continued)
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GE 5� 5! 5E 5 5E � 5� 5 5! 5 5� 5ME 5M 5M 5M sf5M
5M 5M 5M 5! 5 5 5 5� = 4

GE 5 5! 5 5 5 5 5 5E 5 4 =
sf

5M! 5M 5M BB :: 4
�E 5 5 5 5 5E 5E 5 5 5 4 =

sf
5M 5M 5M B : 4

�E ' ' 5 4 =
sf

5M 5M 5M B : 4
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GE
p
5 5 5 5 5 5 5 5 5M�

= =
f

[RECAPITULATION]

5 5 5 : 5� 5 :
sf

5M� 5 5 5 5 5 5M� =

GE
p
5M 5M 5M 5M 5M

� = 4 =
f
5M 5M 5M =

sf

5M 5M 5M B 5M� =
�E

p
5M 5M 5M 5M 5M�

= 4 =
f

5M 5M 5M =
sf

5M 5M 5M B 5M� =
�E

p
5M 5M 5M 5M 5M� = 4

f
5 4 5 4 =

sf

5 5 5 5M� =

Example 13.21, Haydn, String Quartet in G, Op. 64, No. 4, first movement, 39–62 (continued)
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